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QUESTION 1

When setting the value for the configuration option "number of open objects", you must consider which object types?
(Choose 3)

A. User tables

B. Cursors

C. Views

D. Temporary tables
E. Derived tables

Correct Answer: BCE

QUESTION 2

Supported dbcc commands can be granted to?(Choose 2)
A. User defined roles.

B. Groups

C. Users

D. System defined roles

Correct Answer: AC

QUESTION 3

Which of the following is FALSE about the date and time datatypes ?
A. A date column cannot allow nulls

B. The earliest supported date is Jan 1, 0001

C. The date datatype is implicitly convertible to the datetime datatype
D. Time is now an ASE keyword

Correct Answer: A

QUESTION 4

When performance suffers due to spinlock contention on a named cache, the SA can
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A. Create a large 1/0 pool.

B. Partition the cache.

C. Use MRU replacement.
D. Expand metadata caches.

Correct Answer: B

QUESTION 5

The sp_fixindex stored procedure? (Choose 2)

A. Requires the database be in single-user mode to run.

B. Replaces the dbcc indexalloc command for indexes on user tables.
C. Replaces the eorg rebuild command for indexes on user tables.

D. Rebuild of an index on a system table.

E. Adds and detetes entries directly to/from an index\\'s B-tree.

Correct Answer: AD
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